

Sample DocOrigin Invoices- Two Invocies - 1st Invoice enhanced by DocOrigin with ads, Safety Message and Up Sell Promotions. The 2nd Invoice only has one ad.

**GreenTree Office Supplies** 1255 Devonshire Drive Grand Rapids, Michigan USA 62751 Tel:800.545.6021 Fax:217.544.6021



Page 1 of 3

Ship to: **Perfect Printers 425 Lansing Drive Moline, Illinois USA 61265** Tel:800.555.2323 Fax:309.762.4411

Bill to: **Head Office, Perfect Printers 800 Industrial Avenue** Chicago, Illinois **USA 60611** Tel:800.555.3363 Fax:312.222.2345

Customer ID	Customer PO	Payment Terms	
Kelly	20090420-001	Net 30 Days	
Sales Rep ID	Shipping Method	Ship Date	Due Date
Jessica	UPS	May 1, 2009	May 7, 2009

Quantity	Item	Description	Unit Price	Amount
1	PB001	Poster Boards, 22" x 28"	\$7.00	\$7.00
		Assorted Fluorescent		
		5-Pack		

## Want something that really holds up?

Try our Presentation Foam Board for only \$9.99 for a 5-Pack

Also available in our biodegradable corn starch Made in America by GreenTree Office Supplies for \$12.99 for a 5-Pack.

3	CP106	Smooth Texture Construction Paper 50/Pack	\$2.00	\$6.00
2	DB401	Drawing Book 9" x 12"	\$5.00	\$10.00
10	4 SB303	Sketch Book, 8-12/" x 11"	\$9.00	\$90.00
12	EP532	Ruled Easel Pad	\$10.00	\$120.00
15	6 FC545	Recycled Flip Chart Plain	\$60.00	\$900.00
10	CC704	Certificates	\$5.00	\$50.00
15	8 CH001	Award Certificate Holder Black	\$6.00	\$90.00
10	PA940	Premium Award Certificates Gold Seals	\$5.00	\$50.00
10	PN657 WARNING	Compressed Air G: DO NOT INHALE	\$3.89	\$38.90

(DANGER)

Deliberate or accidental inhalation of the contents to achieve intoxication from the propellant. Depending on the type and amount of irritant gas inhaled, victims can experience symptoms ranging from minor respiratory discomfort to acute airway, lung injury and even death.



1255 Devonshire Drive Grand Rapids, Michigan USA 62751 Tel:800.545.6021 Fax:217.544.6021



Page 2 of 3

Quantity	Item	Description	Unit Price	Amount
DANGEI EXPLOSIV MATERIA	Do not p	Aerosol Paint - Silver Metalic G: EXPLOSIVE MATERIAL uncture content. Aerosol can may explode cau	\$4.29 sing serious harm or injury.	\$8.58
15	LH210	Label Holders Self-Adhesive Binder Spine 1" x 3-1/2" 10-Pack	\$5.00	\$75.00
3	SL111	Sheet Lifters 10-Pack Black	\$3.00	\$9.00
ADAN LASER L AVOID DI EYE EXPO	LASER is Rect Radiation common tissue pro	Pen with pointer laser G: LASER LIGHT an acronym which stands for Light Amplification. The laser produces an intense, highly direction cause of laser-induced tissue damage is thermoteins are denatured due to the temperature risergy. The human body is vulnerable to the output.	anal beam of light. The most al in nature, where the se following absorption of out of certain lasers, and	\$87.90
		rtain circumstances evangure can regult in dam	nand to the eve and skin	
12		rtain circumstances, exposure can result in dam Poly Binder Pouch	nage to the eye and skin. \$1.00	\$12.00
	under ce BP439 Did you	Poly Binder Pouch  know pouches are available in th	\$1.00 ese 6 colors for only \$	\$1.19?
12	under ce BP439	Poly Binder Pouch	\$1.00	\$1.19?
	under ce BP439 Did you	Poly Binder Pouch  know pouches are available in th  Big Tab Insertable Dividers	\$1.00 ese 6 colors for only \$	<b>\$1.19?</b> \$24.00
6	Did you  ID300	Poly Binder Pouch  know pouches are available in th  Big Tab Insertable Dividers 4 Sets/Pack Index Tabs Permanent Self-Stick	\$1.00 ese 6 colors for only \$ \$4.00	\$ <b>1.19?</b> \$24.00 \$25.00
6 50	ID300 IT960 RD615 TD678 12 Tab/S	Row pouches are available in th  Big Tab Insertable Dividers 4 Sets/Pack Index Tabs Permanent Self-Stick 100-Pack Reference Dividers Clear Labels	\$1.00  ese 6 colors for only \$  \$4.00  \$0.50  \$6.00	
6 50	ID300 IT960  RD615  TD678 12 Tab/S All index PN657  WARNIN Content	Row pouches are available in th  Big Tab Insertable Dividers 4 Sets/Pack Index Tabs Permanent Self-Stick 100-Pack Reference Dividers Clear Labels 5-Tab Set Table of Contents Dividers Colored Set - Set inludes 2 Red, 2, Yellow, 2 Blue, 2 Purp	\$1.00  ese 6 colors for only \$  \$4.00  \$0.50  \$6.00	\$24.00 \$25.00 \$30.00 \$24.00
6 50 5 12 5 DANGEI	ID300 IT960  RD615  TD678 12 Tab/S All index PN657  WARNIN Content	Rnow pouches are available in th  Big Tab Insertable Dividers 4 Sets/Pack Index Tabs Permanent Self-Stick 100-Pack Reference Dividers Clear Labels 5-Tab Set Table of Contents Dividers Colored Set - Set inludes 2 Red, 2, Yellow, 2 Blue, 2 Purports are lined. Paint Thinner  G: FLAMABLE	\$1.00  ese 6 colors for only \$  \$4.00  \$0.50  \$6.00  \$2.00  pole, 2 Green, and 2 Orange	\$24.00 \$25.00 \$30.00



1255 Devonshire Drive Grand Rapids, Michigan USA 62751 Tel:800.545.6021 Fax:217.544.6021



Quantity Item Description Unit Price Amount

Server Cabinet 45U x 600mm x 20mm \$589.00 \$589.00



CAB854

WARNING: HEAVY OBJECT

Use slow and smooth movements. Hurried, jerky movements can strain the muscles in your back.

Keep your body facing the object while you lift it. Twisting while lifting can hurt your back.

Keep the load close to your body. Having to reach out to lift and carry an object may hurt your back.

"Lifting with your legs" should be done only when you can straddle the load. To lift with your legs, bend your knees, not your back, to pick up the load. Keep your back straight.

Try to carry the load in the space between your shoulder and your waist. This puts less strain on your back muscles.



Want to make a SPLASH in your showroom?

Let us paint your server cabinet with your company color for only an additional \$99.



1 BC230

Lateral File/Bookshelf Combo - Premium

\$550.00

\$550.00

Grade



WARNING: TIP HAZARD

Use a fork lift to move equipment. Due to the tipping risk, use a wall tether to

secure bookshelf to wall.

Subtotal	\$2,901.38
Sales Tax	\$174.08
Total Invoice Amount	\$3,075.46
Payment/Credit Applied	\$200.00
Net Total	\$2,875.46

This invoice is subject to the terms and conditions as set forth on the reverse side hereof.All deductions and/or billbacks must be presented within 3 months from the date of the invoice with the correct supporting documents



1255 Devonshire Drive Grand Rapids, Michigan USA 62751



Page 1 of 2

Tel:800.545.6021 Fax:217.544.6021

Ship to:

Ace Landscaping
831 Skyline Drive
Barrington, Illinois
USA 60021
Tel:800.555.68476 Fax:309.762.6876

Ace Landscaping - Accounting
100 Wabash Avenue
Chicago, Illinois
USA 60611
Tel:800.555.8673 Fax:309.762.7638

Customer ID	Customer PO	Payment Terms	
Michelle	64765465-001	Net 30 Days	
Sales Rep ID	Shipping Method	Ship Date	Due Date
Jackson	UPS	November 6, 2014	November 7, 2014

Quantity	Item	Description	Unit Price	Amount
3	CP106	Smooth Texture Construction Paper 50/Pack	\$2.00	\$6.00
2	DB401	Drawing Book 9" x 12"	\$5.00	\$10.00
10	4 SB303	Sketch Book, 8-12/" x 11"	\$9.00	\$90.00
12	EP532	Ruled Easel Pad	\$10.00	\$120.00
15	6 FC545	Recycled Flip Chart Plain	\$60.00	\$900.00
10	CC704	Certificates	\$5.00	\$50.00
15	8 CH001	Award Certificate Holder Black	\$6.00	\$90.00
10	PA940	Premium Award Certificates Gold Seals	\$5.00	\$50.00
3	SL111	Sheet Lifters 10-Pack Black	\$3.00	\$9.00
12	BP439	Poly Binder Pouch	\$1.00	\$12.00

# Did you know pouches are available in these 6 colors for only \$1.19?

6	ID300	Big Tab Insertable Dividers 4 Sets/Pack	\$4.00	\$24.00
50	IT960	Index Tabs Permanent Self-Stick 100-Pack	\$0.50	\$25.00
5	RD615	Reference Dividers Clear Labels 5-Tab Set	\$6.00	\$30.00
12		Table of Contents Dividers Colored /Set - Set inludes 2 Red, 2, Yellow, 2 Blue, 2 Purple, 2 ex cards are lined.	\$2.00 2 Green, and 2 Orange	\$24.00



1255 Devonshire Drive Grand Rapids, Michigan USA 62751



Tel:800.545.6021 Fax:217.544.6021

Quantity	Item	Description	Unit Price	Amount
5	TD679	Table of Contents Dividers Index Double-Column	\$8.00	\$40.00
1	BP854	Poly Binder Pouch 50-Pack	\$29.00	\$29.00
1	BC230	Lateral File/Bookshelf Combo Premium Grade	\$550.00	\$550.00

Subtotal	\$2,059.00
Sales Tax	\$123.54
Total Invoice Amount	\$2,182.54
Payment/Credit Applied	\$200.00
Net Total	\$1,982.54

This invoice is subject to the terms and conditions as set forth on the reverse side hereof.All deductions and/or billbacks must be presented within 3 months from the date of the invoice with the correct supporting documents